ARNTEREFSREHFEHT - AOKEFR

TH27%E10 AKIRAE
TR27F10BXH BE CIIZES
HEE 5 = H X5 HEHH 58 z 5
BAAEEAAQD 28,034 35,535 38,044 73,579 BAAERAAQD 27,963 35,470 37,980 73,450
SNEAERAO 198 246 229 475 SNEAERAO 194 241 235 476
KENMAB 28,232 35,781 38,273 74,054 KENHAB 28,157 35,711 38,215 73,926
BARAGFE#TE - AOKFE (IBARZRHET) BXRAGERHH - AAKEE (BB
THU I R R i e 5 & 3 FTH I 4 BR R i 8 z 5 (BH#) (BEH)
AR ;2 T hisk AR EHET 1,100 1,437 1,397 2,834 B — Al =2 247 303 323 626 X% HEH 5 z it X5 HE L3 T S
KiEHhisg Kig 801 882 916 1,798 . ¥ /N 125 155 174 329 HWmE—TH 805 890 999 1,889 wu&aE—THB 92 124 124 248
2 T 75 Hh 35 AKHET T 204 203 233 436 =H 114 147 162 309 WEZTH 557 646 737 1,383 WUE=TH 0 0
ZA T B Hh 3 N 874 964 1,050 2,014 A T S B 67 86 97 183 WE=TH 267 318 364 682 WILE=TH 0 0
TR s TR 1,052 1,246 1,404 2,650 K 211 256 257 513 WEMTH 206 255 292 547 WILEMTHB 0 0
T/ E i H/E 478 557 598 1,155 EEFE 18 27 27 54 WEATH 765 1,001 1,116 2,117 BWILERTHB 36 53 58 111
K2 A EELW 196 216 272 488 FAFTET 177 179 216 395 FENARTH 85 112 117 229 WILEARTE 128 176 174 350
ma 105 146 151 297 T Hh i FhTET 131 148 160 308 W&EtTH 189 237 265 502 wWLUEtTH 351 513 522 1,035
iR i iR 259 311 360 671 AL HET 131 168 154 322 HES—TH 0 0 WILE/NTE 0 0
AR s ZAR 1L 95 104 139 243 Fa ET 176 219 256 475 HEEZTH 235 319 322 641 WILEATE 0 0
KE 862 1,002 1,023 2,025 il 17 25 30 55 HEEB=TH 8 10 9 19 wua+TE 163 241 240 481
itz FEshis; dzE 467 514 529 1,043 T th s FrET 36 32 42 74 HESDTTH 0 0 BLUE+—TE 96 151 152 303
ot B st i 165 187 195 382 BRHET 100 112 122 234 HESRTH 302 363 412 775 BWuE+=TH 0 0
iz i 193 217 233 450 % 88 88 121 209 HEBARTH 175 213 249 462 BWUE+=TH 25 33 30 63
4 this He 2,874 3,459 3,890 7,349 RifiFE 141 150 189 339 HEELTH 347 395 450 845 INEt 891 1,291 1,300 2,591
HZE A Hhis HES 1,745 2,087 2,326 4,413 AR o ERE—TH 50 56 69 125 HES/NTH 384 479 523 1,002 =1 12,271 16,724 17,646 34,370
ARGt KZNE1~4TH 787 975 1,075 2,050 BRE=TH 291 340 359 699 HMESNLTH 294 308 361 669
a2 & Ki2)I185~9T B 1,488 2,301 2,333 4,634 ERE=TH 49 68 79 147 AZN&—TH 346 420 459 879
W R A thig MWERE 2,229 3,283 3,335 6,618 il 65 60 72 132 KEZJNEZTH 98 120 134 254
¥ 35 A Hhig mES 2,257 3,328 3,387 6,715 izt 36 25 39 64 KZJNE=TH 343 435 482 917
LA Hh i wIlE 891 1,291 1,300 2,591 it 40 53 55 108 KZJNEMTH 0 0
=11 19,122 24,710 26,146 50,856 hnyE R ER iz INGE 58 56 60 116 KENEBEETHE 243 405 392 797
INET 72 69 75 144 KZNEARTH 550 790 792 1,582 (FH)
AARAERHE- A O£ (IHILEE) §4 5 76 79 99 178 R2NEETH 329 498 518 1016 X5 s 4 5 % i
(LI EH 27 37 40 77 KENEBE/NTBE 366 608 631 1,239 mmEae—TH 162 200 208 408
1T 4 B R X 3 L 5 g &t HFERE 100 104 114 218 KENEATE 0 0 EmE&=TH 141 154 173 327
5 F st tisE 180 245 289 534 fit] W} 116 139 148 287 MWREE—TH 500 760 719 1,479 EMEXE=TH 139 150 177 327
[Fap il 411 567 603 1,170 TR 98 109 140 249 MREEZTH 121 196 185 381 AmEemTH 115 129 146 275
A6 3 B #thig FEE 405 574 587 1,161 i} 46 50 57 107 MEE=TH 244 348 387 735 EMXEETH 54 62 60 122
T E i MTE 664 881 913 1,794 HRIR Hhig H 33 38 39 77 MREMTH 249 346 368 714 mAMmXEaNTH 165 187 211 398
HEF 56 56 83 139 BRI 65 68 84 152 MWRERTH 263 390 398 788 mmEaetTH 155 176 207 383
= BE i deiAT R 137 177 186 363 IhEF 72 82 97 179 MWMEENRTH 354 506 503 1,009 mmxa/\TH 188 217 244 461
B 233 345 375 720 mp 38 46 53 99 MWREETH 273 434 441 875 mAMXaEATH 187 210 234 444
e 45 44 70 114 L3 G 36 39 45 84 MWRE/NTH 225 303 334 637 mmEae+THE 180 210 224 434
+A1 53 74 90 164 E=3i 34 39 44 83 wmEE—TH 267 310 317 627 mmEse+—TH 253 297 301 598
EI\2 129 154 202 356 B/ 12 15 18 33 BEE-TH 361 540 529 1,069 mEmnEe+=TH 213 273 271 544
IRt &R i £33 75 104 119 223 N 5 5 4 9 BEXE=TH 355 546 586 1,132 mmEae+=TH 153 184 198 382
tiRa 54 66 74 140 7/ 31 4 44 85 HwEEMTH 293 435 465 900 mEmnEE+mTH 119 148 176 324
a5 98 142 139 281 BTF 21 28 28 56 BEERTH 375 586 604 1,190 mAnEae+aETH 141 183 171 354
tiae 155 178 207 385 4 2 ik ETF 16 17 21 38 BESNATH 323 572 549 1,121 =X 2,365 2,780 3,001 5,781
+IR7 66 90 80 170 3 10 14 11 25 mEELtTH 283 339 337 676
LRt ithig +IA8 93 120 117 237 =S 8 6 9 15 wmEE/NTH 0 0
ti¥a9 113 138 149 287 i35 6 6 5 11 INET 11,380 15,433 16,346 31,779
ti\E10 89 102 129 231 K4 15 12 17 29
WEXN 28 28 29 57 it 32 42 52 94
= REX S 5 5 6 11 [R5 48 58 73 131
LR 73 59 70 129 FIN% & g Emxs 2,365 2,780 3,001 5,781
=11 3,162 4,149 4517 8,666 =1l 5,750 6,676 7,381 14,057




